Efficiency vs P,

10.05
o
9.045
>
20.04
o
.035
0]

0.03
0.025

0.02
0.015 : ; :
0.01F - F-ines oo R
0.005f ----=vsnmmieemenennens P RRRREE e

1.0 + r r
B o . .
I +| |+ : :
-+ rtdE------------ P SEEREEERERER

107 1 10 prT (Ge\})o3

Ratio
N

[—=— DQM_mKFT_TToriginal
mkFit_ TTNEWHS

mKFit_TTNEWHS-dpdg
— mkFit_ TTNEWHS-chi2

[
>

0.09

cy

................................................

Ratio
-
)
1
T

Efficiency vs ¢

o-0.05
[
Q.045
2
90-04
o
.035
(0]
0.03
0.025
0.02
0.015
0.01
Y0 S S SO

................................................

..................................................

o 10 arh ! ! e
= H. <+ p 4+ . £
© H. <+ 5 3
x 1.055':' ST F ‘"‘" 1] +F LTI
H: W o 4L -
R A L
,. | .‘ L[ ][44
0.95% ~
-2 -1 0 1 2 3




	Contents
	Page 1


